Quiz 1 Solution  Fall 2010  August 30
The following problem is from Lesson 1.

Solve the nonlinear inequality 
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NOTE:  This is a two part problem.  One part of the problem is to solve the nonlinear inequality 
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.  The other part of the problem is to solve the equation 
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We will use the three step method to solve the nonlinear inequality 
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Step 1:
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Step 2:
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Step 3:
  
 Interval

Test Value

Sign of 
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Thus, the solution for the nonlinear inequality 
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numbers given by 
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 was found in Step 1 above.  Thus, the solution for 
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.  Putting these two solutions together, we have that the solution for 
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 is the set of real numbers given by 
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Answer:  
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